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2) 560 + 10 = $6 340+10=349 1300 = 10 = 130 1]00 = 10 = 110
1) False 200em =10 = 20em
True 463010 = 463
False 1500 =10 = IS0
$50<-10=SS
1ss0<-10=15S
150 > ss<ISS
2) Stefan is correct. Accept an explanation of Mara’s mistake, such as Mara has only divided the tens by 10 but hasn’t
divided the hundreds by 0.
1) If any age other than 100 is selected for Grandad, Olivia's age will not be a whole number of years.
Grandad: 100 years old
Olivia: 10 years old 7
Dad: 50 years old
Ben: | year old
Jack: S years old
2) Ifthe Mia was using the number 1100, they would get the answer . If Jacob also used 1100, they would get the answer Ilo.
Therefore, the following starting numbers are possible: 1100, 1200, 1300, 1400, 1500, 1600, 1700, 1200 and 1900,
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